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Math 112: #33 A/B/C/D

A) Consider the polar equation rcos 20 =9.

1. Explain why there can be no points of this graph on the y-axis.
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B) Consider the polar equation  r=+1+2co0s2¢

1. Explain why there can be no points of this graph on the y-axis.
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() Consider the polar equation F'sin 260 =9,
I. Explain why there can be no points of this graph on the x-axis.
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2. Find a rectangular equation in the form: yy‘ = f(x) corresponding to 7’sin 20 =9.
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D) Consider the polar equation 7= 3sin 26.

1. Explain why there can be no points of this graph on the x-axis.
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2. Find a rectangular equation in the form: X:Wcorresponding to r = 3sin 26.
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